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Μηκοτομή ΟΔΟΣ 366 (Ρ-ΠΕ1)

Υ  Π  Ο  Μ  Ν  Η  Μ  Α

Ε Ρ Υ Θ Ρ Α

ΣΤΟΝ ΑΞΟΝΑ

ΣΤΗΝ ΑΡΙΣΤΕΡΗ Ρ.Γ.

ΣΤΗΝ ΔΕΞΙΑ Ρ.Γ.

ΚΑΤΩΦΛΙ ΑΡΙΣΤΕΡΑ

ΚΑΤΩΦΛΙ ΔΕΞΙΑ  

ΤΟΜΗ

ΕΔΑΦΟΥΣ

ΑΠΟ :  Κ2136 Χ.Θ. = 0 +   0.00

ΕΩΣ :  Κ2077 Χ.Θ. = 0 +048.917
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Μηκοτομή ΟΔΟΣ 367 (Ρ-ΠΕ1)

Υ  Π  Ο  Μ  Ν  Η  Μ  Α

Ε Ρ Υ Θ Ρ Α

ΣΤΟΝ ΑΞΟΝΑ

ΣΤΗΝ ΑΡΙΣΤΕΡΗ Ρ.Γ.

ΣΤΗΝ ΔΕΞΙΑ Ρ.Γ.

ΚΑΤΩΦΛΙ ΑΡΙΣΤΕΡΑ

ΚΑΤΩΦΛΙ ΔΕΞΙΑ  

ΤΟΜΗ

ΕΔΑΦΟΥΣ

ΑΠΟ :  K2140 Χ.Θ. = 0 +   0.00

ΕΩΣ :  Κ2078 Χ.Θ. = 0 +163.023

Υψόμετρο Αριστερής Ρ.Γ.

Υψόμετρο Δεξιάς Ρ.Γ.
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Μηκοτομή ΟΔΟΣ 368 (Ρ-ΠΕ1)

Υ  Π  Ο  Μ  Ν  Η  Μ  Α

Ε Ρ Υ Θ Ρ Α

ΣΤΟΝ ΑΞΟΝΑ

ΣΤΗΝ ΑΡΙΣΤΕΡΗ Ρ.Γ.

ΣΤΗΝ ΔΕΞΙΑ Ρ.Γ.

ΚΑΤΩΦΛΙ ΑΡΙΣΤΕΡΑ

ΚΑΤΩΦΛΙ ΔΕΞΙΑ  

ΤΟΜΗ

ΕΔΑΦΟΥΣ

ΑΠΟ :  Κ2165 Χ.Θ. = 0 +   0.00

ΕΩΣ :  Κ2182 Χ.Θ. = 0 +046.727

Υψόμετρο Αριστερής Ρ.Γ.

Υψόμετρο Δεξιάς Ρ.Γ.
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Μηκοτομή ΟΔΟΣ 369 (Ρ-ΠΕ1)

Υ  Π  Ο  Μ  Ν  Η  Μ  Α

Ε Ρ Υ Θ Ρ Α

ΣΤΟΝ ΑΞΟΝΑ

ΣΤΗΝ ΑΡΙΣΤΕΡΗ Ρ.Γ.

ΣΤΗΝ ΔΕΞΙΑ Ρ.Γ.

ΚΑΤΩΦΛΙ ΑΡΙΣΤΕΡΑ

ΚΑΤΩΦΛΙ ΔΕΞΙΑ  

ΤΟΜΗ

ΕΔΑΦΟΥΣ

ΑΠΟ :  Κ2284 Χ.Θ. = 0 +   0.00

ΕΩΣ :  Κ2190 Χ.Θ. = 0 +136.783

Υψόμετρο Αριστερής Ρ.Γ.

Υψόμετρο Δεξιάς Ρ.Γ.
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Μηκοτομή ΟΔΟΣ 370 (Ρ-ΠΕ1)

Υ  Π  Ο  Μ  Ν  Η  Μ  Α

Ε Ρ Υ Θ Ρ Α

ΣΤΟΝ ΑΞΟΝΑ

ΣΤΗΝ ΑΡΙΣΤΕΡΗ Ρ.Γ.

ΣΤΗΝ ΔΕΞΙΑ Ρ.Γ.

ΚΑΤΩΦΛΙ ΑΡΙΣΤΕΡΑ

ΚΑΤΩΦΛΙ ΔΕΞΙΑ  

ΤΟΜΗ

ΕΔΑΦΟΥΣ

ΑΠΟ :  Κ2146 Χ.Θ. = 0 +   0.00

ΕΩΣ :  Κ2301 Χ.Θ. = 0 +030.732

Υψόμετρο Αριστερής Ρ.Γ.

Υψόμετρο Δεξιάς Ρ.Γ.
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Μηκοτομή ΟΔΟΣ 375 (Ρ-ΠΕ1)
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